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(a) Using the data in the table given below,
calculate the center of gravity to determine a
central location for a new centre for which

location decision needs to be taken :

Location Coordinates Monthly Shipments

A @, 2) 35
B (5, 4) 25
C (8, 3) 55
D (8,12) 45
E (4,16) 20

(b) What is a hybrid layout ? Explain its
advantages over other layouts.

OR

Answer the following :

(@) Explain the use of break even analysis for
facility location planning.

(b) Explain the use of decision trees in capacity

expansion decisions.
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(@) Draw the network diagram.

(b) Determine the critical path(s) and the project
duration. L

(¢) Calculate the event slacks and activity floats.

OR

Answer the following :

(@) Explain, how in a PERT network the
probability of completing the project by a
certain time pericd may be estimated.

(b) Discuss the importance of innovations for
organization's survival and growth and the
various forms in which they may be promoted.

3. For the following CPM Project Network, answer

the given questions : 4. Discuss the emerging importance of supplv
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chain management for achieving o.ﬁmsﬁmg:m_

sffectiveness and efficiency-
OR

Answer the following

(a) Discuss the broad strategles used in
aggregate production Em::.im.

() Explain the role of Kanban in JIT production
gystem.

(a) Discuss the relevant costs of inventory
clearly stating how they are mxﬁ_wmwma and
ascertained.

(b) Fora given item of constant demand rate,
the monthly demand is 3000 units. The price
of the item per unit is Re. 10. The ardering
cost is Rs. 200 per order and the inveniory
carrying cost is 10 percent of the average
inventory. What is the optimal ordering
policy ? The vendor offers 4% discount if the
annual requirement of units are purchased at
one time. Do yeu accept the discount offer ?

OR

GS-2/2 (4) Contd-

GS—2/2 (500)

Answer tha following °

(a) What | i
) What s cycle inventory ? Discuss ifs effect
on i i | d
on the n.:dm::o cost, carrying ccst and
economic order quantity. |

b) I s e
mx.c_wm_:. how a fixed order quantity inventory
system operates. r e
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